COORDINATES
Pearson Edexcel — Thursday 4 June 2020 - Paper 2 (Calculator) Higher Tier

1.

17 Write down the coordinates of the tuming point on the graph of 3 =(x + 12" -7

(Total for Question 17 is 1 mark)

Pearson Edexcel - Tuesday 21 May 2019 - Paper 1 (Non-Calculator) Higher Tier

2.

19 Giventhat x*—6x+1={r—aP—-»F for all values of x,

(i) find the value of o and the value of B,

{11} Hence write down the coordinates of the wming point on the graph of y=x* -4 + |

{Total for Question 19 is 3 marks)

Pearson Edexcel - Tuesday 11 June 2019 - Paper 3 (Calculator) Higher Tier

3.



15 The graph of the curve C with equation v = fix) is wransformed to give the graph of
the curve S with equation y = fi—x) — 3

The point on C with coordinates (7, 2) is mapped to the point Q on 8.

Find the coordinates of Q.

(Total for Question 15 is 2 marks)

Pearson Edexcel - Tuesday 6 November 2018 - Paper 1 (Non-Calculator) Higher Tier

4,



17 Here is a sketch of a curve.

R

0 x
The equation of the curve is y=x*+ax+ b where g and b are integers.

The points (0, —=3) and (5. 0) lic on the curve.

Find the coordinates of the tuming point of the curve.

( ' )

(Total for Question 17 is 4 marks)

Pearson Edexcel - Thursday 8 November 2018 - Paper 2 (Calculator) Higher Tier

5.



14 Omn the grid, sketch the curve with equation 3 = 2+
Give the coordinates of any points of intersection with the axes.

¥ &

R ]

{Total for Question 14 is 2 marks)

Pearson Edexcel - Thursday 8 November 2018 - Paper 2 (Calculator) Higher Tier
6.

18 The straight line L, passes through the poinis with cooedinates (4, &) and (12, 1)
The straight line L, passes through the origin and has gradient — 3

The lines L, and L, intersect an point P,

Find the coordinates of P.

{ . ]

{Twial for Cruestion 18 i 4 marks)



Pearson Edexcel - Monday 12 November 2018 - Paper 3 (Calculator) Higher Tier

7.
20
a3
4
3
4 -2 o 2 4 x
-

Triangle A is transformed by the combined transformation of a retation of 180° abow the

-3
point (—2 0) followed by a ranslation with vector [ ﬂ_]

Ume point on tiangle A is invariant under the combined ransformation.

Find the coordirates of this point.

| . b

{Total for Question 20 ks 2 marks)

Pearson Edexcel - Thursday 24 May 2018 - Paper 1 (Non-Calculator) Higher Tier

8.



& A patiern s made from four identical squares.

The sides of the squares are parallel to the axes.

s

B (38, 36)

A6, T)

a2

Paoint A kas coordinates (6, 7)
Point B has coordinates {18, 36)
Point O is marked on the diagearm.

‘Work ouwt the coordinates of C.

{Total for Question & is 5 marks)

Pearson Edexcel - Tuesday 13 June 2017 - Paper 3 (Calculator) Higher Tier
9.



2 The eguation of & curve is y=a"
A i the point where the curve intersects the y-axis.

{a} State the coordinabes of 4.

The equation of circle Cis ¥ +37 =16

i
The circle C is transkated by the vector [LI] o give circle B.
by Draw a sketeh of circle B.

Label with coordinates
the centre of circle B

and any points of intersection with the x-axis.

{Total for Question 20 is 4 marks)

Pearson Edexcel - Specimen Papers Set 2 - Paper 3 (Calculator) Higher Tier

10.



23 (a) Write Ix*+ 1+ 35 mthe form afx + §)* +¢ where g, b, and ¢ are miegers.

(b) Hence, or etherwise, nrite down the coordinates of the muming paint of the graph
of y= 1"+ 1ir + 35

(Total for Question 23 is 4 marks)

Pearson Edexcel - Specimen Papers Set 1 - Paper 3 (Calculator) Higher Tier

11.

16 The graph of v = fix) is transformed to give the graph of y = —flxr + 3)
The point A on the graph of » = f{x) is mapped to the point P on the
graph of v = —f(x + 3)

The coordinates of point A ane (%, 1)
Find the coordinates of point &

|
{Total for Cuestion 16 is 2 marks)



Pearson Edexcel - Sample Paper 2 - (Calculator) Higher Tier

12,

7 The graph of v = fi(x} is dravm on the grid.

Ya
L T,
g N

!

2

1
/
{

-2 1H|| o 3 4 x
H
-1
4

(2} Write down the coordinates of the timing point of the graph.

(1)
(b) Write down the roots of fx) =2

(1)
(<) Write down the value of f0.5)

(1)

(Total for Question 7 is 3 marks)




Pearson Edexcel - Thursday 26 May 2016 - Paper 1 (Non-Calculator) Higher Tier

13.

10 .
v Drizgram NOT
accurately dravn

X P{5,T)

® M1, 2.5)

Point P has coordinatas {3, T).
Point M has coordinates (1, 2.5).

Point A is the midpoint of the line PO,
Find the coordinatss of point O

{

(Total for Question 10 iz 2 marks)

Pearson Edexcel - Thursday 4 June 2015 - Paper 1 (Non-Calculator) Higher Tier

14.



15 4 and B are two points.

Point A4 has coordinates (-2, 4).
Point B has coordinates (8 &)

C 15 the midpoint of the line sepment 48,
{2} Find the coordinates of L.

I iz the point with coordinates (100, 56).

*(b) Dwes point [ lie on the straight line that passes through 4 and 87
You mmst show how you vrork out your answer.

{Total for Question 15 is & marks)

Pearson Edexcel - Thursday 4 June 2015 - Paper 1 (Non-Calculator) Higher Tier

15.



2 Vi
3.5

The diapram shows part of the curve with eguation v = fx).
The coprdinates of the maximmn pomt of the oarre are (3, 3).

(2} Write dovm the coordinates of the maximmmm point of the cure with egquation

() y=Hr=3)

{
i) y=1f(x)

{
(i) )= f{3x)

The curve with equation v = f{x) is tansformed to give the curve with equation v = f{{x) — 4
(2} Describe the wansformation.

(Total for Question 24 is 4 marks)

Pearson Edexcel - Monday 8 June 2015 - Paper 2 (Calculator) Higher Tier

16.



12 The points 4, B and C lie in order on & straight line.

The cpordinates of 4 are (2, 5)
The coordinates of B are (4, p)
The coordinates of C are (g, 17)

Given that AC = 448, find the valaes of p and g.

(Total for Question 12 is 3 marks)

Pearson Edexcel - Wednesday 5 November 2014 - Paper 1 (Non-Calculator) Higher Tier

17.



y=1x)

3, -4

The dizgram shovs par of the curve with equation y = £{x].
The coordinates of the minimum point of this curve are (3, —4)

Write down the coordinates of the minimnmn peint of the curve with equation
@ y=fixp+3

L
(i} y=1{Ix)

L
(i) = fi-x)

[

(Total for Question 25 is 3 marks)

Pearson Edexcel - Monday 9 June 2014 - Paper 1 (Non-Calculator) Higher Tier

18.



26 The diapram shows part of a skeich of the curve y = sin x®.

¥
i

1y

(a) Write down the coordinates of the point P.

(o) Write down the coordinates of the point &.

Here is 3 skewch of the curve y = gcosbn® + ¢, 0 x< 360

?\v«/\w /

zfn\/ 360 *

—1-

(c} Find the values of a, b and .

(Total for Question 24 is 5 marks)

Pearson Edexcel - Friday 13 June 2014 - Paper 2 (Calculator) Higher Tier

19.



1

The point 4 has coordinates (2, 3).
The point B has coordinates (6, ).

M is the midpoint of the line A5,
Find the coordinates of M.

x 4(2.3)

Diagram NOT
accurately drawn

x B(6. 8)

v

(Total for Question 1 is 2 marks)

Pearson Edexcel - Friday 13 June 2014 - Paper 2 (Calculator) Higher Tier

20.



19 Here is a cubeid dravm on a 3-D prid

Y
Diagram MNOT
4 accurately dramn
B Fa
0 Fd i i =
& X
3
P iz a vertex of the cuboid.
T divides the line OF in the ratie 1:2
Find the coordinates of T
[ , . h]

(Total for Question 19 is 2 marks)

Pearson Edexcel - Wednesday 6 November 2013 - Paper 1 (Non-Calculator) Higher Tier

21.

17 AB s a line segment.

A 5 the point with coordinates (3, 6, T).
The midpoint of AB has coordimates (-2, 2, 3).

Find the coordinates of B.

(Total for Question 17 is 2 marks)



Pearson Edexcel - Tuesday 11 June 2013 - Paper 1 (Non-Calculator) Higher Tier

22.

15 The expression o — 8x + 21 can be written in the form (x — a)® + b for all values of x.

(a) Find the value of o and the valwe of b

i ot o B Tl TR s, SR
R SRR
The equation of a curve is ¥ = flx) where flx)=x— &r+ 21
The diagram shows part of a sketch of the graph of » = fix).
¥ &
vy =fix)
M
] T x

The miimum point of the curve is M.

) Write down the coordintes of M.

(Total for Question 25 is 4 marks)

Pearson Edexcel - Tuesday 11 June 2013 - Paper 1 (Non-Calculator) Higher Tier

23.



28 The diagram shows a skeich of the graph of y = cos x®

¥

—1k

(a) Write down the coordinates of the point A.

(b} On the same disgram, draw a sketch of the graph of ¥ = 2 cos 1*

(Ttal for Question 28 is 2 marks)

Pearson Edexcel - Tuesday 6 November 2012 - Paper 1 (Non-Calculator) Higher Tier

24,



17 Thelines y=x—2 and x+y= 10 are drawn on the grid.

On the grid, mark with a cross (%) cach of the points with integer coordinates that are in
the region defined by

pxr—2

x+p< 10

= ]

{Total for Question 17 is 3 marks)

Pearson Edexcel - Tuesday 9 November 2010 - Paper 3 (Non-Calculator) Higher Tier

25.



Diiagram NOT
i accurately drawn
L |
P2, 3
o "
P is the point with coordinates {2, 3).
(2 is the point with coordinates {12, T).
Work out the coordinates of the midpont of the line PQ.
( ' )
(Total 2 marks)

Pearson Edexcel - Friday 12 November 2010 - Paper 4 (Calculator) Higher Tier

26.

16, Gand H are verlices of a cuboid.

Lt
il

Diagram NOT
accurately drawn

(]

(a) ‘Write dowen the coordinates of point G.

)
]

(b ‘Write dowen the coordinates of point H.

)
n
(Total 2 marks)




Pearson Edexcel - Friday 11 June 2010 - Paper 4 (Calculator) Higher Tier
27.

27. The graph of = T{x} is shown on the grid.

L

L f

_r=f|;]] ) graph GIJ
3

The graph G is a translation of the graph of ¥ = [{x).

(a) Wrile dowen, in Lerms of T, the emation of graph G.

= B
)]
The graph of y= () has a maximum point at (—4, 3).
{b) Wrile dowm the coordinales of the maximum point of the graph of ¥ = [[—x).
@
{Total 3 marks)

Pearson Edexcel - Thursday 5 November 2009 - Paper 3 (Non-Calculator) Higher Tier

28.



24, This is a sketch of the curve with the equaton 3 = fx).
The only minivnon point of the curve is at P(3, —3).

y=1fix)

Y %

F(3, =)

{a) Write dovm the coordinates of the minimam point of the curve with the eguation
y=fix-1)

(2}

() Write dovn the coordinates of the mnimum point of the curve with the sgquation
y=fix+3+6

)

(Total 4 marks)

OCR GSCE - Thursday 5 November 2020 — Paper 5 (Non-Calculator) Higher Tier
29.



7

A pattern is made from four congruant right-angled trianglas.

¥

N A o
A4, 9) ' C

] X

The line AC iz parallel to the x-axis.
The point A has coordinates (4, 9) and the point B has coordinates (17, 12).

Work out the coordinates of paint C and point D.

5 G

Not to scale



OCR GSCE — Tuesday 13 June 2017 — Paper 6 (Calculator) Higher Tier
30.

5 Point A has coordinates (-4, 6) and point B has coordinates (8, 3).

¥
Ax 0 Mot to scale
(4.6) xB
(8.3)
0 > X
(a) (i) Find the gradient of line AB.
(@)I) s [2]
(ii) Find the equation of line AE.

(b) Point P has coordinates (0, -2).

Write down the equation of the line parallel to line AB that passes through P.

(D) oo [2]



AQA GSCE - Thursday 8 November 2018 — Paper 2 (Calculator) Higher Tier

31.
2 Pis(4,9)and Qis (-2, 1)
Circle the midpoint of PQ.
(1, 5) (3, 4) (3, 5)

AQA GSCE — Monday 12 November 2018 — Paper 3 (Calculator) Higher Tier

32.
25 ABCD is a quadrilateral.
yt Not drawn
D1, 4) C (4, 4)
A1, 2)
Bi4,1)
0 x

The guadrilateral is reflected in the line x=4

Which vertices are invariant?

Circle your answer.

Aand D Cand D Band C

accurately

[1 mark]

(6. 8)

[1 mark]

Band D



AQA GSCE — Monday 24 May 2018 — Paper 1 (Non - Calculator) Higher Tier

33.
7 A (0, 2) and B (B, 5) are points on the straight line ABCD.
L
Mot drawn
accurately
D
(
B (6, 5)
A (0, 2)
0 ::
AB=BC=CD
Work out the coordinates of D.
[3 marks]

Answer ( . )




AQA GSCE — Tuesday 12 June 2018 - Paper 3 (Calculator) Higher Tier
34.

16 Two straight lines intersect at point A.

v ==dx

AN

0

Circle the coordinates of A.

{—%, 3) (—4, 3) (-12, 3)

Mot drawn
accurately

4
—. 3
{3,}

[1 mark]



AQA GSCE - Thursday 2 November 2017 — Paper 1 (Non - Calculator) Higher Tier

35.
21 A, B and C are points on the axes as shown.
_]' Y
A Mot drawn
accurately
V] C 1?
8
The area of triangle ABC is 28 square units.
Work out possible coordinates for A, B and C.
[2 marks]

Al ; ) B( : ) C( : )




AQA GSCE - Thursday 2 November 2017 — Paper 1 (Non - Calculator) Higher Tier
36.

23 The equation of acurveis y=(x+ 3}2 +5

Circle the coordinates of the turning point.

[1 mark]
(5, 3) (5, =3) (3,5) (-3, 5)

AQA GSCE - Thursday 6 November 2017 — Paper 2 (Calculator) Higher Tier
37.
13 Two straight lines intersect at point P.

ya g Mot drawn

el accurately
0 *
Circle the coordinates of P.
[1 mark]

g i 1)
(=3, =1} -1 _EJ (=1, <3) [——. -1



AQA GSCE - Thursday 8 June 2017 — Paper 2 (Calculator) Higher Tier

38.
3 Ais(2,12)and Bis (8, 2)
Circle the midpoint of AB.
(3, 5) (4, 6) (5. 7)

AQA GSCE - Tuesday 13 June 2017 - Paper 3 (Calculator) Higher Tier
39.

(6, 10)

[1 mark]



23 Here is a sketch of y-f +hx+e
The curve intersects
the x-axis at (5, 0) and point P
the y-axis at (0, =10)

¥ A
Mot drawn
accurately
P\O 5 x
=10
Work out the v-coordinate of the tuming paint of the graph.
[4 marks]

Answer




AQA GSCE - Sample Paper 3 (Calculator) Higher Tier

40.
28 The diagram shows a line joining O to P.
Not drawn
Ya accurately
P
0 "x

The gradient of the line is 2
The length of the line is /2645

Waork out the coordinates of P.
[4 marks]

Answer | . )




